12 vermischte Aufgaben zum Rechnen mit Potenzen mit natirlichen Exponenten.

Vereinfachen:

1 16-5"1 +9.5" =

2 5.27" 4+ 4" =

3 336n _62n+1 -

Faktorisieren:

4 X" -9 =
5 a2n+2 _ 1 -
n+2 n+1 n _
6 a" +4a" +4a" =
Kirzen:
- X% —x*
x5 —x3
g a" — an+1 B
n n-1
a"-a

a%+l 4 2g%P+1pP 4 gh?P

9 a4pb _ b2p+1 =
5 6
10 A2
1011
5 . 4
11 6~ .35 _
9.14%.15°
4(12a°b*x?)°
27 (4a%b3x)*
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Vereinfachen:
1 16-5"1 +9.5"1 =5"1(16+9) =5"1.25 =5"1.52 =5+l

2 5.22M 44" =5.22" 4 (22)" =5.22" 4 22" = 22V(5 4 1) = 6. 22"
oder: 5.22" + 4" =5.(22)"+4"=5.4"+4"=4".(5+1)=6-4"

3 336” _ 62n+1 =3. (62)n _ 62n+1 =3. 62n _ 62n+l - 62n . (3_ 61) =-3. 62n

Faktorisieren:

4 X2 -9 =(x"+3)(x" -3) denn: x2" = (x")?2
5 a2 _1 = (@™ + 1)@ - 1) denn: a2™2 = (a™!)2
6 a™? + 4a™! + 4a" = a"(@% + 4a+ 4) = a"(a+2)?
Kirzen:
- x5—x“= x4(x -1 _ o X(x=1) _ X
x°-x3 x3(x?-1) x+D)x-1) x+1

g ah — an+1 an (1 _ a) B 1
n n-1 ~ 4n-1 =-a =-a
a"-a a"(a-1

9 a’*! 4+ 2a?P*pP + ab®® a(a® +2a®*bP + b)) a(@® +brP)? _a(a® +bP)
a®b — h2°+1 b(@a®—-b) b(a®—bP)(a®+b")  b(a®-bP)
10 45 . 256 B (22)5 . (52)6 B 210 .512 B §
1011 -5t 211 gll o
5, 4 . 5, . 4 5 725,64, 74
11 6°-35° _ (2:3°-6-7)° _ 2°.3%.5%.7% o

9.14%.15% 32.(2.7)*.(3-5)3 32.24.74.33.53

4(12a%*x?)®  22(22.3a%"x?)3 22.26.3%.a°.p'2.x°
27 (4a%b3x)* 33 (22a2b3x)* 33.28 .8 .p12. x4

= axX
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